JZ b2 KEEMED Verilog HDL fEukt

//Wait for Start any MODE
ps2:
begin
rHansyaOn <= 8'b0000_0000;
roHansyaSet <= 0;

if (iExtstart) //LRILANIVDSDRY—MES
begin
case (1MODE)
2'b00: rs <= psRl;
//00 DB (ERILANIL) DSDINS A= 5 UtaTs
2'b01l: rs <= psAWl;
//01 I BENSA—FRE (ps0 TITODEFIFRL)
2'b10: rs <= psEWl;
//10 DB (ERILANIL) DSDINSA—FESAHDBT
2'bll: rs <= ps2;
//11 | REENESRE. BV U OANICH U CRSNEEZTDE—F
default: rs <= ps2;
endcase
end

else if (iSensorSet)
[/ AT — MESHHVE EFREENEZTD
begin
rMODE [0] <= 2'000; //RHFEBENSA—IDREFELTCHD
rMODE[1] <= 2'b00; //BlockRAMZFid+H UE—RICHRE
rMODE [2] <= 2'b00;
rs <= (iMODE == 2'bll) ? psHl: ps2;
end
else begin
rs <= ps2;
end
end

// MODE 11 (Hansya Mode)
psH1: //T—5FHAHFRIA
begin

rShinritiAddr [0] <= rSensorDatal0];

/) BV T—5%77 RURICTD
rShinritiAddr [1] <= rSensorDatall];
rShinritiAddr [2] <= rSensorDatal2];

rMODE[0] <= 2'b00; //00:Read E—F
rMODE [1] <= 2'b00;
rMODE [2] <= 2'b00;

rwShinritiStart[2:0] <= 3'bl1l1l;

//BEERODRAY—MES
rs <= psH2;
end

psH2: //T—5HEIS

begin

rShinritiData_0 <= wOutputData_0; //BEEXRHS
rShinritiData_1 <= wOutputData_1; //REIT—FDEIS
rShinritiData_2 <= wOutputData_2;

//RET—5 EREHIENS A= DE&ZEED. BIESRE]
rHansyaOn[0] <= |{wOutputData_0 &
{8{rHansyaHantei [0]}}} ? 1: 0;
rHansyaOn[1l] <= |{wOutputData_1 &
{8{rHansyaHantei [1]}}} ? 1: 0;
rHansyaOn[2] <= |{wOutputData_2 &
{8{rHansyaHantei [2]}}} ? 1: 0;

rwShinritiStart[2:0] <= 3'b000;
rs <= (rShinritiFin==8'b0000_0111) ? psH3: psH2;
end

psH3: //BEIBECHER

begin

rDaiSyo[0] <= {rShinritiAddr[0] > rKizyun[0]} ? 1: 0;
rDaiSyo[1l] <= {rShinritiAddr[1] > rKizyun[1]} ? 1: 0;
rDaisSyo[2] <= {rShinritiAddr[2] > rKizyun[2]} ? 1: 0;

rs <= (rHansyaOn[0] || rHansyaOn[1] ||rHansyaOn([2]) ?
psH4: ps2;
end

psH4: //INBEDHEDDHERERZ rkagen [TXA

begin

rKagen[0] <= {rDaiSyol[0] A rDir[0]};
rKagen[1l] <= {rDaiSyol[l] A rDir[1]};
rKagen[2] <= {rDaiSyol[2] A rDir[2]};

rs <= psHb5a;
end




